EXHIBIT A

March 4, 2005 Invoice 196876 Page 3 Client # 718601 Matter # 142164

	rvices through February 10, 2005 g to Case Administration			
01/04/05	Call from K. McKinley re: servic pleadings (.1); Prepare fax list for notice (.1); Draft and e-file affida Jerominski re: same (.1); Call fro	r top 20 creditors wit of service re:	(.2); E-file and serve same (.1); Confer with A.	
LA	Aja E. Inskeep	0.70 hrs.	140.00/hr	\$98.00
01/04/05	Update 2002 database (1.0); Dow	vnload notice of a	ppearance (1)	
LA	Ann Jerominski	1.10 hrs.	150.00/hr	\$165.00
01/04/05	Telephone call from K. McKinle Search docket and retrieve in 2 ca re: copies of same (.1)			
LA	Barbara J. Witters	0.60 hrs.	145.00/hr	\$87.00
01/04/05	Preparation for first day hearing			
Associate	Paul Heath	4.50 hrs.	305.00/hr	\$1,372.50
01/05/05	Confer with co-counsel, P. Heath first day motions and orders	and A. Jeromins	ki regarding service of	
Associate	Karen M. McKinley	0.50 hrs.	240.00/hr	\$120.00
01/05/05	Meetings with J. Tanenbaum and and filing and service of second (rvice of first day motions	
DIRECTOR	Mark D. Collins	0.40 hrs.	485.00/hr	\$194.00
01/05/05	Conference with R. Berkovich re Jerominski re: same (.1); Conference Conference with B. Geldert and J with K. Gerber at BSI re: same (J	ences (2) with B A Jerominski re:	Geldert re: same (.8);	
Associate	Paul Heath	1.60 hrs.	305.00/hr	\$488.00

01/06/05	Finalize and e-file affidavits of entry of interim orders (.5); Or Prepare critical dates calendar	ganize first day plea		
LA	Ann Jerominski	2.00 hrs.	150.00/hr	\$300.00
01/06/05	Attend to call from court regar	ding noticing agents	3	
Associate	Karen M. McKinley	0.20 hrs.	240.00/hr	\$48.00
01/06/05	Conference with A. Jerominsk	i re: service issues		
Associate	Paul Heath	0.20 hrs.	305.00/hr	\$61.00
01/07/05	Review service list and credito K. McKinley and discussion w notice of appearance and upda case calendar and docket (.4)	rith K. McKinley re:	same (.1); Download	
LA	Ann Jerominski	0.70 hrs.	150.00/hr	\$105.00
01/10/05	Provide P. Heath with confirm confirm	ation order and affic	lavit in support of	
LA	Aja E. Inskeep	0.20 hrs.	140.00/hr	\$28.00
01/10/05	Forward sample pleadings to E Download notice of appearanc Update case calendar (.1)	-		
LA	Ann Jerominski	0.60 hrs.	150.00/hr	\$90.00
01/11/05	Review case calendar			
DIRECTOR	Mark D. Collins	0.10 hrs.	485.00/hr	\$48.50
01/11/05	Telephone call to J. Tanenbaurre: same (.2)	m re: status (.1); Co	nference with M. Collins	;
Associate	Paul Heath	0.30 hrs.	305.00/hr	\$91.50
01/12/05	E-file two affidavits of service vendor order (.2); E-mail to B Update and distribute critical of	SI re: confirmation of	of filing of same (1);	
LA	Ann Jerominski	0.60 hrs.	150.00/hr	\$90.00

Matter # 142164

01/14/05	/14/05 Download notice of appearance and update 2002 database					
LA	Ann Jerominski	0.10 hrs.	150.00/hr	\$15.00		
01/20/05	Re-serve first day pleadings of database (.2)	on party (returned ma	il) (.1); Update 2002			
LA	Ann Jerominski	0.30 hrs.	150.00/hr	\$45.00		
01/21/05	E-file supplemental affidavit	of service re: utility c	order			
LA	Aja E. Inskeep	0.20 hrs.	140.00/hr	\$28.00		
01/25/05	Update 2002 database					
LA	Ann Jerominski	0.10 hrs.	150.00/hr	\$15.00		
01/28/05	E-mail correspondence with	A. Inskeep re: covera	ge of filing			
LA	Amy L. Rude	0.20 hrs.	140.00/hr	\$28.00		
01/28/05	Download notice of appearar 2002 service list to requesting		database (.1); Forward			
LA	Ann Jerominski	0.30 hrs.	150.00/hr	\$45.00		
01/31/05	Finalize and e-file affidavit o	f service for orders				
LA	Ann Jerominski	0.20 hrs.	150.00/hr	\$30.00		
02/03/05	Circulate letter from former of e-filing notifications (.1)	Circulate letter from former employee to distribution list (.1); Review				
LA	Aja E. Inskeep	0.20 hrs.	140.00/hr	\$28.00		
02/03/05	Legal research re: final decre	e motion				
Associate	Paul Heath	0.30 hrs.	305.00/hr	\$91.50		
02/04/05	Review agenda					
Associate	Karen M. McKinley	0.10 hrs.	240.00/hr	\$24.00		

	insel			March 4, 2005 Invoice 196876 Page 6 Client # 718601
				Matter # 142164
02/10/05	Review e-filing notificatio orders to working group (e-file affidavit of service re (.2); Call from P. Heath re final fee applications to B.	 ; Coordinate service of e: same (.2); E-mail 200 : research of final fee ap 	of orders (1); Dra 2 to B. Geldert a	aft and t Weil
LA	Aja E. Inskeep	1.00 hrs.	140.00/hr	\$140.00
02/10/05	Telephone call with R. Berkovich and B. Geldert re: final decree motion (.1); Telephone call with A. Inskeep re: service issue (.1)			
Associate	Paul Heath	0.20 hrs.	305.00/hr	\$61.00
		Total Fees for Profes	sional Services	\$3,937.00
тс	DTAL DUE FOR THIS INVO	NCE		\$.3,937.00
т	DTAL DUE FOR THIS MA	TTER		\$3,937.00

For services through February 10. 2005 relating to Creditor Inquiries

01/07/05 LA	Forward inquiry from Rockland Elec Ann Jerominski	tric to K. McKin 0.20 hrs.	ley and P. Heath 150.00/hr	\$30.00
01/07/05 Associate	Attend to inquiry from W. Dunn Karen M. McKinley	0.20 hrs.	240.00/hr	\$48.00
01/10/05	Respond to inquiry from Jennifer at 6 filing (1); Respond to inquiry from 5 (1); Respond to inquiry from former inquiry from M. Ward at Newark Sec Scarlett of JP Morgan Chase request	S. Sheridan of Ca employee re: sar curity re: same (mpus Party re: same ne (.1); Respond to 1); Inquiry from L.	
LA	Ann Jerominski	0.60 hrs.	150.00/hr	\$90.00
01/12/05	Return telephone calls to four parties bankruptcy	re: receipt of not	tice of filing of	
LA	Ann Jerominski	0.40 hrs.	150.00/hr	\$60.00
01/13/05	Respond to calls from IWO creditors	receiving notice	of filing	
DIRECTOR	Mark D. Collins	0.20 hrs.	485.00/hr	\$97.00
01/17/05	Respond to several creditor phone ca	ills re: status of c	ase	
DIRECTOR	Mark D. Collins	0.30 hrs.	485_00/hr	\$145.50
01/18/05	Reply to inquiry from Albany Broad	casting re: case st	latus	
LA	Ann Jerominski	0.10 hrs.	150.00/hr	\$15.00
01/26/05	Inquiry from J. Milarski re: case stat	us		
LA	Ann Jerominski	0.10 hrs.	150.00/hr	\$15.00

Total Fees for Professional Services

\$500.50

March 4, 2005 Invoice 196876 Page 8 Client # 718601

Matter # 142164

TOTAL DUE FOR THIS INVOICE

\$500.50

TOTAL DUE FOR THIS MATTER

\$500.50

For services through February 10, 2005 relating to Meetings

01/04/05	Telephone call with M. Harrison re:	-	205.00/1	\$61.00
Associate	Paul Heath	0.20 hrs.	305.00/hr	\$01.00
01/05/05	Download request to schedule 341 r	neeting and forwa	ard to working group	
LA	Ann Jerominski	0.20 hrs.	150.00/hr	\$30.00
02/07/05	Prepare outline on 341 meeting (.4), same (.1)	; Telephone call v	with J. Tanenbaum re:	
DIRECTOR	Mark D. Collins	0.50 hrs.	485.00/hr	\$242.50
02/09/05	Telephone call with M. Harrison re: (3); Attend 341 meeting (9)	341 meeting (.1)	; Preparation for same	
Associate	Paul Heath	1.30 hrs.	305.00/hr	\$396.50

Total Fees for Professional Services\$730.00

TOTAL DUE FOR THIS INVOICE

\$730.00

TOTAL DUE FOR THIS MATTER

\$730.00

Thomas Henn General Coun US Unwired 901 Lakeshor Lake Charles,	e Drive, 9th Floor			March 4, 2005 Invoice 196876 Page 10 Client # 718601 Matter # 142164
	rvices through February 1 ig to Executory Contracts/			
01/13/05 Associate	Telephone call with J. So Paul Heath	utkes re: contracts 0.20 hrs.	305.00/hr	\$61.00
01/20/05 DIRECTOR	Review plan regarding s Mark D. Collins	tatus of assumption and rejo 0.20 hrs	ections 485.00/hr	\$97.00
		Total Fees for Professi	onal Services	\$158.00
TO	TAL DUE FOR THIS INV	OICE		\$158.00
ΤΟ	TAL DUE FOR THIS M	ATTER		\$158.00

March 4, 2005 Invoice 196876 Page 11 Client # 718601 Matter # 142164

For services through February 10, 2005 relating to Plan of Reorganization/Disclosure Statement

01/05/05	Telephone call to K. Gerber re: confirmation hearing notice (.1); Review disclosure statement, confirmation hearing notice for filing (.2); Conference with B. Geldert and telephone call to K. Gerber re: same (.1)				
Associate	Paul Heath	0.40 hrs.	305.00/hr	\$122.00	
01/06/05	Telephone call with B. Gel hearing (.1); Telephone call				
Associate	Paul Heath	0.30 hrs.	305.00/hr	\$91.50	
01/10/05	Legal research re: confirma confirmation (.9); Telephor (.1); Conference with A. Je Jerominski re: same (.1); T	ne call with A. Inskeep rominski re: same (.1);	re: confirmation order Telephone call with A.		
Associate	Paul Heath	1.30 hrs.	305.00/hr	\$396.50	
01/11/05 Associate	Telephone call with J. Tand Paul Heath	enbaum re: confirmation 0.10 hrs.	n order 305.00/hr	\$30.50	
01/20/05	disclosure statement per re	Return telephone call to S. Dunmore and forward copy of plan and disclosure statement per request (2); Respond to inquiry from M. Harrison re: objection deadline for plan and disclosure statement (.1)			
LA	Ann Jerominski	0.30 hrs.	150.00/hr	\$45.00	
01/20/05	E-mail to R. Berkovich re:	affidavit of publication			
Associate	Paul Heath	0.10 hrs.	305.00/hr	\$30.50	
01/28/05	Download and finalize plan Coordinate service of same		e same (20 files) (.4);		
LA	Ann Jerominski	1.10 hrs.	150.00/hr	\$165.00	
01/28/05	Review e-mail messages a	nd prepare plan supplen	nent for filing		
Associate	Karen M. McKinley	0.60 hrs.	240.00/hr	\$144.00	

March 4, 2005 Invoice 196876 Page 12 Client # 718601 Matter # 142164

01/28/05	Review plan supplement documents same (.2)	s (.4); Attention	to filing and service of		
DIRECTOR	Mark D. Collins	0.60 hrs.	485.00/hr	\$291.00	
01/31/05	Conference with P. Heath re: servic	e of plan supple	ement		
LA	Ann Jerominski	0.10 hrs.	150.00/hr	\$15.00	
01/31/05	Telephone call with A. Jerominski i Harrison re: plan issue (.1); Telepho (.1)		· · · · · · · · · · · · · · · · · · ·		
Associate	Paul Heath	0.30 hrs.	305.00/hr	\$91.50	
02/01/05	Work on revisions to confirmation	order			
DIRECTOR	Mark D. Collins	1.40 hrs.	485.00/hr	\$679.00	
02/01/05	Telephone call with M. Harrison re Berkovich re: same (.2); E-mail to I re: same (.8)	-	· · · · · · · · · · · · · · · · · · ·		
Associate	Paul Heath	1.60 hrs.	305.00/hr	\$488.00	
02/02/05	Work on confirmation order (.3); T form of confirmation order (.3); Me	•			
DIRECTOR	Mark D. Collins	0.70 hrs.	485.00/hr	\$339.50	
02/02/05	Telephone call to M. Collins re: plan issue (.1); Telephone call to M. Harrison re: same (.1); Review confirmation order (1.3); Conference with M. Collins re: plan issue (.2); Telephone calls (x2) with M. Harrison re: same (.6); Legal research re: same (.6); Review plan supplement (.5)				
Associate	Paul Heath	3.40 hrs.	305.00/hr	\$1,037.00	
02/03/05	Communications with J. Tanenbau	m re: confirmati	on order		
DIRECTOR	Mark D. Collins	0.10 hrs.	485.00/hr	\$48.50	

March 4, 2005 Invoice 196876 Page 13 Client # 718601 Matter # 142164

02/03/05	Telephone call with B. Geldert (.1) order (.1); E-mail to M. Harrison re order (.8); Review e-mail from J. T to R. Berkovich re: plan issue (.1); to R. Berkovich re: plan (.1); Revie (1.4); Conference with M. Collins re research re: plan issue (.6)	e: same (.1); Rev anenbaum re: sa E-mail to B. Fra ew affidavit in su	iew revised confirmation me (.1); Telephone call im re: same (.2); E-mail apport of confirmation		
Associate	Paul Heath	3.80 hrs.	305.00/hr	\$1.159.00	
02/04/05	Draft notice of filing of proposed c	onfirmation orde	er		
LA	Aja E. Inskeep	0.20 hrs.	140.00/hr	\$28.00	
02/04/05	Review J. Loughlin affidavit and cosame	Review J. Loughlin affidavit and confirmation order and comment upon same			
DIRECTOR	Mark D. Collins	1.70 hrs.	485.00/hr	\$824.50	
02/04/05	Telephone calls (x2) to R. Berkovich re: plan issues (.2); Telephone call with M. Harrison re: confirmation order (.3); Telephone call with B. Geldert re: notice (.2); Telephone call with B. Geldert re: plan issue (.2); Telephone call with R. Berkovich re: confirmation order (.2)				
Associate	Paul Heath	1.10 hrs.	305.00/hr	\$335.50	
02/07/05	Attend to service of affidavit of J. Loughlin in support of confirmation and proposed confirmation order (.2); E-file and serve affidavit and proposed confirmation order (.2); E-mail same to working group (.1)				
LA	Aja E. Inskeep	0.50 hrs.	140.00/hr	\$70.00	
02/07/05	Review proposed confirmation order for filing (.7); Review Loughlin affidavit in support of confirmation for filing (.8); Legal research re: plan issue (.8); Conference with M. Collins re: same (.1)				
Associate	Paul Heath	2.40 hrs	305.00/hr	\$732.00	
02/08/05 DIRECTOR	Review proposed insert to plan cor Mark D. Collins	nfirmation order 0.10 hrs.	485.00/hr	\$48.50	
02/09/05	Telephone call with M. Harrison re	e: confirmation o	order		
Associate	Paul Heath	0.20 hrs.	305.00/hr	\$61.00	

	nsel			March 4, 2005 Invoice 196876 Page 14 Client # 718601
				Matter # 142164
02/10/05 Associate	Telephone call with A. In with B. Geldert re: plan is Paul Heath	•	der (.1); Teleph 305.00/hr	none call \$61.00
		Total Fees for Profess	ional Services	\$7,334.00
TC	TAL DUE FOR THIS INVO	DICE		\$7,334.00
тс	DTAL DUE FOR THIS MA	ATTER		\$7,334.00

March 4, 2005 Invoice 196876 Page 15 Client # 718601 Matter # 142164

For services through February 10, 2005 relating to Cash Collateral/DIP Financing

01/05/05	Download interim cash collateral order and circulate to working group (.2); Finalize and e-file notice of entry of interim cash collateral order and final hearing (.3); Coordinate service of same on 2002 and special service parties (.4); Download interim order re: cash management and bank accounts and circulate to working group (.1); Draft notice of entry of interim order and final hearing re: cash management and bank accounts (.3); Finalize and coordinate service of same on 2002 and special service parties (.2)				
LA	Ann Jerominski	1.50 hrs.	150.00/hr	\$225.00	
01/05/05	Draft notice of final cash collateral h	earing (.3); Revis	se same (.2)		
Associate	Paul Heath	0.50 hrs.	305.00/hr	\$152.50	
01/13/05	Retrieve and forward cash management	ent order to P. He	eath		
LA	Ann Jerominski	0.10 hrs.	150.00/hr	\$15.00	
01/24/05	Import proposed final cash collateral	order and blackl	ine		
LA	Ann Jerominski	0.20 hrs.	150.00/hr	\$30.00	
01/25/05	Draft notice of filing proposed final e-file same (.2); Import blackline of (
LA	Ann Jerominski	0.50 hrs.	150.00/hr	\$75.00	
01/25/05	Review notice and proposed final ca	sh collateral orde	r for filing		
Associate	Paul Heath	0.30 hrs.	305.00/hr	\$91.50	
01/28/05	Download final cash collateral order Coordinate service of same (.1)	and distribute to	working group (.1);		
LA	Ann Jerominski	0.20 hrs.	150.00/hr	\$30.00	

Total Fees for Professional Services

\$619.00

Thomas Henning, Esq. General Counsel	March 4, 2005 Invoice 196876
US Unwired	Page 16
901 Lakeshore Drive, 9th Floor Lake Charles, laLA 70601	Client # 718601
	Matter # 142164
TOTAL DUE FOR THIS INVOICE	\$619.00

TOTAL DUE FOR THIS MATTER

\$619.00

March 4, 2005 Thomas Henning, Esq. Invoice 196876 General Counsel US Unwired Page 17 901 Lakeshore Drive. 9th Floor Client # 718601 Lake Charles, laLA 70601 Matter # 142164 For services through February 10, 2005 relating to Claims Administration Download order re: payment of prepetition claims in ordinary course and 01/05/05 circulate to working group (.1); Coordinate service of same on 2002 (.1) 0.20 hrs. 150.00/hr \$30.00 Ann Jerominski LA Telephone call from Oneida Indian Nation regarding claim 01/24/05 Karen M. McKinley 0.20 hrs. 240.00/hr \$48.00 Associate Factual research re: claims 02/02/05 0.30 hrs. 305.00/hr \$91.50 Associate Paul Heath Review correspondence re: claim 02/03/05 305.00/hr \$30.50 Associate Paul Heath 0.10 hrs. **Total Fees for Professional Services** \$200.00

TOTAL DUE FOR THIS INVOICE

TOTAL DUE FOR THIS MATTER

\$200.00

\$200.00

March 4, 2005 Invoice 196876 Page 18 Client # 718601 Matter # 142164

For se	rvices through February 10, 2005			
relatin	g to Court Hearings			
01/04/05	Coordinate production and service of first day orders for first day hearing of notice of first day hearing (.3); Pr Coordinate delivery and pick up of the hearing (.3); Conference with M. Co day hearing and to do list (.2)	(.8); Coordinate repare affidavit o first day pleading	supplemental service f service for same (.1); s to court for first day	
LA	Ann Jerominski	2.70 hrs.	150.00/hr	\$405.00
01/04/05 Associate	Prepare for and attend first day hear Karen M. McKinley	ing 7.50 hrs.	240.00/hr	\$1,800.00
01/04/05 DIRECTOR	Preparation for and attendance at fir Mark D. Collins	st day hearing 6.80 hrs.	485.00/hr	\$3,298.00
01/04/05 Associate	Preparation for first day hearing (3.0 re: same (.3); Conferences (2) with to P. Morgan re: same (.1); Telepho (.4); Review notice of filing for first Jerominski re: orders for first day he Collins re: first day hearing (.2); E-1 (Court appearance) (.7); Conference Paul Heath	M. Collins re: sa one calls (x2) with t day hearing (.2) earing (.2); Telep mail to M. Collin	me (.3); Telephone call h M. Harrison re: same c Conference with A. hone call with M. is re: same (.1); Hearing	\$1,738.50
Associate	i aui i icaui	5.70 m3.	505.00m	01,100.00
01/04/05 Associate	Research re: telephonic appearances Rebecca L. Booth	s for first day hea 0.40 hrs.	uring 290.00/hr	\$116.00

March 4, 2005 Invoice 196876 Page 19 Client # 718601 Matter # 142164

01/05/05	Numerous updates to 2002 database ((.1); Conference with P. Heath, K. M issues for first day orders (.2); Telecc and K. Gerber re: service issues for fi- prepetition claims in ordinary course hearing (.1); Forward 2002 list, gover disclosure statement hearing to K. Ge administration order and circulate to of same on 2002 (.1); Download order relationship in ordinary course and ci Coordinate service of same on 2002 (cKinley and B onference call v irst day order r and for notice rnment agency erber for servic working group er re: continuat irculate to work	Geldert re: service with P. Heath, B. Geldert e: payment of of disclosure statement list and notice of e (.2); Download joint o (.1); Coordinate service ion of Sprint business king group (.1);			
LA	Ann Jerominski	1.70 hrs.	150.00/hr	\$255.00		
01/05/05	Prepare request for 1/4 first day heari Download order scheduling hearing i working group (1); Coordinate servi	re: disclosure s	tatement and circulate to			
LA	Ann Jerominski	0.40 hrs.	150.00/hr	\$60.00		
01/05/05	Review notice of hearing re: interim cash management order (.1); Review notice of hearing re: investment guidelines order for filing (.1); Review notice of hearing re: unsecured claim order for filing (.1)					
Associate	Paul Heath	0.30 hrs.	305.00/hr	\$91.50		
01/06/05	E-mail to A. Jerominski re: hearing					
Associate	Paul Heath	0.10 hrs.	305.00/hr	\$30.50		
01/07/05	Download FBG affidavit of service r hearing on holders of notes (.2); E-fil filing to FBG (.2); Review e-mail fro filing of notice of disclosure stateme	le same and fo om K. Gerber a	rward confirmation of			
LA	Ann Jerominski	0.50 hrs.	150.00/hr	\$75.00		
01/12/05	Distribute first day hearing transcript	t to working gr	oup			
LA	Ann Jerominski	0.10 hrs.	150.00/hr	\$15.00		
01/13/05 Associate	Telephone call to R. Berkovich re: he Paul Heath	earing 0.10 hrs.	305.00/hr	\$30.50		

March 4, 2005 Invoice 196876 Page 20 Client # 718601

Matter	#	142164

01/14/05	Conference with A. Jerominski hearing (.1); E-mail to R. Berko	•	ice for confirmation	
Associate	Paul Heath	0.20 hrs.	305.00/hr	\$61.00
01/19/05	Telephone call to R. Berkovich Jerominski re: agenda (.1); E-m publication for plan hearing (.1)	ail to A. Jerominsk	i re: affidavit of	
Associate	Paul Heath	0.80 hrs.	305.00/hr	\$244.00
01/20/05	Draft 1/27 agenda (1.0); E-file of statement hearing (.1)	certification of pub	lication for disclosure	
LA	Ann Jerominski	1.10 hrs.	150.00/hr	\$165.00
01/20/05	Meeting with P. Heath re: statu			¢40.50
DIRECTOR	Mark D. Collins	0.10 hrs.	485.00/hr	\$48.50
01/20/05	Conference with M. Collins re: Tanenbaum re: same (.1); Conf			
Associate	Paul Heath	0.30 hrs.	305.00/hr	\$91.50
01/21/05	Review and revise agenda (.4); and R. Berkovich re: same (.2)	Review agenda (.1); E-mail to J. Tanenbaum	
Associate	Paul Heath	0.70 hrs.	.305.00/hr	\$213.50
01/24/05	Review agenda			
DIRECTOR	Mark D. Collins	0.10 hrs.	485.00/hr	\$48.50
01/24/05	Telephone call with A. Jeromir Berkovich re: hearing (.1); Rev Berkovich re: hearing (.2); Con Telephone call with M. Collins	ise agenda (.3); Tel ference with A. Jer	lephone call with R.	
Associate	Paul Heath	0.90 hrs.	305.00/hr	\$274.50

Thomas Henning, Esq.MarcGeneral CounselInvoUS UnwiredPage901 Lakeshore Drive, 9th FloorCliesLake Charles, IaLA 70601Clies					76	
				Matter # 142	2164	
01/25/05	Revise 1/27 agenda (.2); Finalize, e- Compile 1/27 hearing notebooks (.5 chambers (.1); Prepare proposed ord requesting party re: telephonic parti- call from court and e-mail to workin 1/27 (.3)); Coordinate sul lers for 1/27 hear cipation in 1/27 l	bmission of sa ing (.5); E-ma nearing (.1); T	ame to ail to elephone		
LA	Ann Jerominski	2.00 hrs.	150.00/hr		\$300.00	
01/25/05	01/25/05 Telephone call with A. Jerominski re: agenda (.1); Review and revise agenda (.2); Conference with A. Jerominski re: same (.1); E-mail to A. Jerominski re: hearing (.1); Telephone calls (x2) to R. Berkovich re: same (.2)					
Associate	Paul Heath	0.70 hrs.	305.00/hr		\$213.50	
01/26/05	Telephone calls with P. Heath, K. M 1/27 hearing	AcKinley and M.	Collins re: or	ders for		
LA	Ann Jerominski	0.30 hrs.	150.00/hr		\$45.00	
01/26/05	Preparation for 1/27/05 hearing					
DIRECTOR	Mark D. Collins	1.30 hrs.	485.00/hr		\$630.50	
01/26/05	Telephone call to A. Jerominski re: hearing (.1); E-mail to R. Berkovich re: same (.1); Conference with K. McKinley re: same (.2); Preparation for hearing (1.1); Conference with A. Jerominski re: same (.1)					
Associate	Paul Heath	1.60 hrs.	305.00/hr		\$488.00	
01/27/05	Assist K. McKinley with preparation of orders for 1/27/05 hearing (.6); Prepare floppy disks of orders and blacklines for hearing (.3); Forward copies of 1/27/05 agenda to K. McKinley (.1); Prepare additional 1/27/05 hearing notebook for K. McKinley (.6)					
LA	Ann Jerominski	1.60 hrs.	150.00/hr		\$240.00	
01/27/05 Associate	Prepare for and attend hearing Karen M. McKinley	2.20 hrs.	240.00/hr		\$528.00	
01/27/05 DIRECTOR	Preparation for and attendance at or Mark D. Collins	mnibus hearing 2.60 hrs.	485.00/hr		\$1,261.00	

Matter	#	142164

02/01/05	Begin draft of 2/9/05 agenda			
LA	Ann Jerominski	0.30 hrs.	150.00/hr	\$45.00
02/02/05	E-mail 1/27 transcript to working g	roup		
LA	Aja E. Inskeep	0.10 hrs.	140.00/hr	\$14.00
02/02/05	E-mail correspondence with A. Jerc from A. Jerominski containing ager		ing binders (.2); E-mail	
LA	Amy L. Rude	0.30 hrs.	140.00/hr	\$42.00
02/02/05	Revise 2/9 agenda (.4); Compile 2/9 with P. Heath, A. Rude and A. Insk			
LA	Ann Jerominski	1.00 hrs.	150.00/hr	\$150.00
02/02/05	Preparation for plan confirmation h	earing		
DIRECTOR	Mark D. Collins	0.80 hrs.	485.00/hr	\$388.00
02/02/05	Conference with A. Jerominski re:	hearing		
Associate	Paul Heath	0.10 hrs.	305.00/hr	\$30.50
02/03/05	Review docket, 2/9 agenda and ple with P. Heath re: 2/9 agenda (.2)	adings for heari	ng binder (.3); Confer	
LA	Aja E. Inskeep	0.50 hrs.	140.00/hr	\$70.00
02/03/05	Review agenda (.3); Conferences (. and revise same (.4)	2) with A. Inske	ep re: same (.2); Review	
Associate	Paul Heath	0.90 hrs.	305.00/hr	\$274.50
02/04/05	Update/revise 2/9 agenda (.9); Provagenda (.2); Circulate updated 2/9 (.2); Confer with A. Rude and A. L	agenda to work	ing group for comment	
LA	Aja E. Inskeep	1.50 hrs.	140.00/hr	\$210.00
02/04/05	Assemble hearing notebooks for or	nnibus hearing ((2.0)	
LA	Alfonse J. Lugano	2.00 hrs.	145.00/hr	\$290.00

March 4, 2005 Invoice 196876 Page 23 Client # 718601

Matter # 142164

Meet with A. Inskeep re: agenda for 2/9/05 hearing (.1); Preparation of 02/04/05 hearing binders for 2/9/05 (.5); Meet with A. Lugano re: same (.1) 0.70 hrs. 140.00/hr \$98.00 LA Amy L. Rude Telephone calls (x2) with M. Collins re: hearing (.3); Review agenda (.3); 02/04/05 Conference with A. Inskeep re: same (1); Review revised agenda (3); E-mail to J. Tanenbaum and R. Berkovich re: same (.1); Preparation for hearing (1.0) 305.00/hr \$640.50 2.10 hrs. Paul Heath Associate Update/revise/finalize 2/9 agenda (.2); Update/finalize judge's hearing 02/07/05 binders(.3): Attend to service of agenda (.2); Confer with P. Heath re: agenda (2); E-file and serve agenda (2); Coordinate delivery of binders to court (.2); Finalize P. Heath's hearing binders (.3); E-mail agenda to distribution list (.1) 1.70 hrs. 140.00/hr \$238.00 LA Aja E. Inskeep Telephone call with J. Tanenbaum and G. Ticoll re: preparation for 02/07/05 confirmation hearing (.3); Meeting with P. Heath re: same (.1); Preparation for confirmation hearing (.6) DIRECTOR Mark D. Collins 1.00 hrs. 485.00/hr \$485.00 Telephone call with A. Inskeep re: agenda (1); Conference with M. Collins 02/07/05 re: hearing (.2); Review e-mail from J. Tanenbaum re: hearing (.1); Telephone call with B. Geldert re: same (.2); Review agenda (.3); Conference with A. Inskeep re: same (.2); Review revised agenda (.1); Preparation for confirmation hearing (1.2); Conference with A. Inskeep re: same (.2) 2.60 hrs. 305.00/hr \$793.00 Paul Heath Associate Telephone call with G. Ticoll re: preparation for plan confirmation hearing 02/08/05 and E&Y retention (.2); Preparation for confirmation hearing (1.4) Mark D. Collins 1.60 hrs. 485.00/hr \$776.00 DIRECTOR Telephone calls (x2) with B. Geldert re: hearing (.4); Review e-mail from B. 02/08/05 Geldert re: same (.1); Preparation for hearing (1.7) Paul Heath 2.20 hrs. 305.00/hr \$671.00 Associate

March 4, 2005 Invoice 196876 Page 24 Client # 718601 Matter # 142164

02/09/05	Prepare orders for 2/9 hea Update fax service (.1)	ring (.3); Provide P. Hea	th with agenda (.1);	
LA	Aja E. Inskeep	0.50 hrs.	140.00/hr	\$70.00
02/09/05	Preparation for and attend hearing	lance at omnibus hearing	, including confirmatio	on
DIRECTOR	Mark D. Collins	1.70 hrs.	485.00/hr	\$824.50
02/09/05	Conference with M. Colli with M. Collins re: same with A. Inskeep re: orders hearing (.1)	(.1); Preparation for hear	ing (2.1): Conference	
Associate	Paul Heath	2.80 hrs.	305.00/hr	\$8.54.00
		Total Fees for Profes	sional Services	\$19,731.50

TOTAL DUE FOR THIS INVOICE	\$19,731.50
TOTAL DUE FOR THIS MATTER	\$19,7.31.50

March 4, 2005 Invoice 196876 Page 25 Client # 718601 Matter # 142164

For services through February 10, 2005 relating to Schedules/SOFA/U.S. Trustee Reports

01/05/05	Download order extending deadline circulate to working group (.1); Coor Download interim order re: investme group (.1); Draft notice of entry of ir Finalize and coordinate service of sa	rdinate service of ent guidelines an aterim and final h	f same on 2002 (_1); d circulate to working	
LA	Ann Jerominski	0.70 hrs.	150.00/hr	\$105.00
01/06/05	Telephone call with R. Berkovich re (1); Review same (1)	: U.S. Trustee re	porting requirements	
DIRECTOR	Mark D. Collins	0.20 hrs.	485.00/hr	\$97.00
01/06/05	Telephone call to B. Geldert re: mon call with B. Geldert re: initial debtor from Trustee re: reporting requireme re: investment guidelines motion (.1	interview (.1); Fents (.1); Telepho	Review correspondence	
Associate	Paul Heath	0.40 hrs.	305.00/hr	\$122.00
01/07/05	Telephone call with R. Berkovich re	: trustee reportin	g issues	
Associate	Paul Heath	0.20 hrs.	305.00/hr	\$61.00
01/10/05	E-mail to R. Berkovich re: reporting J. O'Malley re: initial debtor intervie Review correspondence re: reporting	w and reporting	requirements (.2);	
Associate	Paul Heath	0.40 hrs.	305.00/hr	\$122.00
01/11/05	Telephone call with J. Tanenbaum r (.2); Attend conference call with clic Meeting with P. Heath re: same (.1)			
DIRECTOR	Mark D. Collins	0.60 hrs.	485.00/hr	\$291.00
01/11/05	Telephone call with J. Tanenbaum r Teleconference call re: same (1.3)	e: reporting requ	irements (.1);	
Associate	Paul Heath	1.40 hrs.	305.00/hr	\$427.00

Matter # 142164

01/12/05	Retrieve trustee quarterly fee	• •		\$75 AA
LA	Ann Jerominski	0.50 hrs.	150.00/hr	\$75.00
01/12/05	Telephone call to J. Tanenba same (.6); Review information trustee (1.1)	um re: reporting issue on re: reporting requir	(.1); Legal research re: ements for submission to)
Associate	Paul Heath	1.80 hrs.	305.00/hr	\$549.00
01/13/05	E-mail to B. Silva re: reporti Harrison re: same (.1); E-ma Telephone calls (x2) with J. E-mail to J. Tanenbaum re: s	il to B. Silva re: initia O'Malley re: initial de	l operating report (.1);	
Associate	Paul Heath	0.70 hrs.	305.00/hr	\$213.50
01/14/05	Meeting with P. Heath re: de	livery of documents t	o the U.S. Trustee	
DIRECTOR	Mark D. Collins	0.10 hrs.	485.00/hr	\$48.50
01/14/05	Telephone call with J. Taner Conference with M. Collins		quirements (1);	
Associate	Paul Heath	0.20 hrs.	305.00/hr	\$61.00
01/18/05	Conference with P. Heath re	: filing of initial repor	ting requirements	
LA	Ann Jerominski	0.10 hrs.	150.00/hr	\$15.00
01/18/05	Telephone call to J. Tanenba call with J. Fleming re: same (.1); Prepare same (1.4); Con E-mails (2) to J. Fleming re:	e (.2); Telephone call t rrespondence to truste	o J. Fleming re: same e re: documents (.2);	
Associate	Paul Heath	2.20 hrs.	305.00/hr	\$671.00
01/19/05	Coordinate filing and submi	•		¢30,00
LA	Ann Jerominski	0.20 hrs.	150.00/hr	\$30.00
01/19/05	Finalize initial operating rep (.1); Conference with A. Jer		ail to S. Brin re: same	
Associate	Paul Heath	0.60 hrs.	305.00/hr	\$183.00

March 4, 2005 Invoice 196876 Page 27 Client # 718601 Matter # 142164

01/25/05	Telephone call to J. O'Malley re: ini with J. O'Malley re: same (1); E-ma		· · · ·	
Associate	Paul Heath	0.30 hrs.	305.00/hr	\$91.50
01/27/05	Prepare for and attend initial debtor	interview		
Associate	Karen M. McKinley	1.20 hrs.	240.00/hr	\$288.00
02/01/05	Confer with JMW regarding emails attend teleconference.	about teleconfe	erence; Prepare for and	
Associate	Karen M. McKinley	1.50 hrs.	240.00/hr	\$360.00
02/03/05	Factual research re: attestation affid Review reporting information for su correspondence to trustee re: report	ubmission to tru	stee (.5); Draft	
Associate	Paul Heath	0.90 hrs.	305.00/hr	\$274.50
02/04/05	E-mail to B. Geldert re: reporting is	sue		
Associate	Paul Heath	0.10 hrs.	305.00/hr	\$30.50
02/08/05	E-mail to R. Berkovich re: reporting	g issue		
Associate	Paul Heath	0.10 hrs.	305.00/hr	\$30.50

	Total Fees for Professional Services	\$4,146.00
TOTAL DUE FOR THIS IN	VOICE	\$4,146.00
TOTAL DUE FOR THIS N	1ATTER	\$4,146.00

	nsel		I	March 4, 200 nvoice 1968 Page 28 Client # 7180	76
			1	Matter # 142	164
	ervices through February 10, 20 ng to Employee Issues	005			
01/05/05 LA	Download order re: prepetiti Coordinate service of same o Ann Jerominski			p (.1);	\$60.00
		Total Fees for Profess	ional Services		\$60.00
TC	TAL DUE FOR THIS INVOID	CE			\$60.00
то	DTAL DUE FOR THIS MAT	TER			\$60.00

March 4, 2005 Invoice 196876 Page 29 Client # 718601 Matter # 142164

For se	ervices through February 10, 2	2005		
relati	ng to Tax Issues			
01/05/05	Download order re: prepetit group (.1); Coordinate servi (.2)			
LA	Ann Jerominski	0.30 hrs.	150.00/hr	\$45.00
01/31/05	Distribute correspondence r	e: tax issues to workin	g group	
LA	Ann Jerominski	0.30 hrs.	150.00/hr	\$45.00
01/31/05	Review correspondence re:	tax issue		
Associate	Paul Heath	0.20 hrs.	305.00/hr	\$61.00
		Total Fees for Profes	sional Services	\$151.00
ТО	TAL DUE FOR THIS INVO	CE		\$151.00
то	TAL DUE FOR THIS MAT	TER	-	\$151.00

Matter # 142164

For services through February 10, 2005 relating to RLF Retention

12/29/04 Associate	Review and edit RL&F retention app Karen M. McKinley	plication 0.20 hrs.	240.00/hr	\$48.00
01/04/05 Associate	Attend to RL&F retention application Karen M. McKinley	on 0.20 hrs.	240.00/hr	\$48.00
01/05/05 LA	Provide RLF retention application to Aja E. Inskeep	o K. McKinley 0.10 hrs.	140.00/hr	\$14.00
01/05/05	Draft notice of RLF retention applic retention application (.2); Coordinat distribution (.2)			
L.A	Ann Jerominski	0.60 hrs.	150.00/hr	\$90.00
01/05/05	Attend to RL&F retention application	on (2.9); Prepare	same for filing (.3)	
Associate	Karen M. McKinley	3.20 hrs.	240.00/hr	\$768.00
01/05/05	Work on RLF's retention application	ו		
DIRECTOR	Mark D. Collins	0.40 hrs.	485.00/hr	\$194.00
01/05/05	Conferences (3) with K. McKinley r Review same for filing (.4)	e: RL&F retentio	on application (_5);	
Associate	Paul Heath	0.90 hrs.	305.00/hr	\$274.50

Total Fees for Professional Services\$1,436.50

TOTAL DUE FOR THIS INVOICE

\$1,436.50

TOTAL DUE FOR THIS MATTER

March 4, 2005 Invoice 196876 Page 31 Client # 718601 Matter # 142164

For services through February 10, 2005 relating to Retention of Others

01/05/05	Download order approving BSI reter (.1); Coordinate service of same on 2 FBG retention and circulate to worki same on 2002 (.1); Draft notice of m (.2); Finalize and e-file motion re: or Coordinate service of same on 2002 Weil retention application (.2); Final (.2); Coordinate service of same on 2 version of same to B. Geldert (.2); D application (.2); Finalize and e-file I Coordinate service of same on 2002	2002 (.1); Downling group (.1); Co otion re: ordinary dinary course pro and distribution (lize and e-file We 2002 and distribut praft notice of Low oughlin retention	oad order approving oordinate service of y course professionals ofessionals (.2); (.2); Draft notice of eil retention application ttion (.2); E-mail filed ughlin retention n application (.2);	
LA	Ann Jerominski	2.40 hrs.	150.00/hr	\$360.00
01/05/05	Prepare Loughlin Meghji & Compar Review Loughlin Meghji & Compar			
Associate	Karen M. McKinley	1.00 hrs.	240.00/hr	\$240.00
01/05/05	Review Weil retention application (application (1); Review Loug	hlin retention	
DIRECTOR	Mark D. Collins	0.30 hrs.	485.00/hr	\$145.50
01/05/05	Conference with J. Tanenbaum re: W course professional motion for filing re: Loughlin retention application (for filing (.4); Review Loughlin rete	g (1.2); Telephon 1); Review Weil	e call with B. Geldert retention application	
Associate	Paul Heath	2.00 hrs.	305.00/hr	\$610.00
01/06/05	Telephone call with B. Geldert re: E Review same (.4)	vercore retention	application (.1);	
Associate	Paul Heath	0.50 hrs.	305.00/hr	\$152.50

March 4, 2005 Invoice 196876 Page 32 Client # 718601 Matter # 142164

01/07/05	Draft notice of Evercore retention application (.1); Finalize and e-file Evercore retention application (.4); Coordinate service of same (.2)			
L.A	Ann Jerominski	0.70 hrs.	150.00/hr	\$105.00
01/07/05 DIRECTOR	Review Evercore retention application Mark D. Collins	on 0.20 hrs.	485.00/hr	\$97.00
01/07/05	Review Evercore retention application Berkovich re: same (1); Telephone Conference with A. Jerominski re: s	calls (x2) to R. B		
Associate	Paul Heath	1.70 hrs.	305-00/hr	\$518.50
01/10/05 LA	Distribute retention application Ann Jerominski	0.10 hrs.	150.00/hr	\$15.00
01/11/05	Telephone calls $(x2)$ with G. Ticoll retention issue $(.3)$; Telephone call $(.1)$			
Associate	Paul Heath	0.40 hrs.	305.00/hr	\$122.00
01/13/05	Telephone call with M. Harrison re: Harrison re: retention application (.1		1); E-mail to M.	
Associate	Paul Heath	0.20 hrs.	305.00/hr	\$61.00
01/20/05	Forward sample Evercore retention P. Heath request	application plead	ings to co-counsel per	
LA	Ann Jerominski	0.20 hrs.	150.00/hr	\$30.00
01/20/05	Review Loughlin retention applicati U.S. Trustee's concerns regarding sa Harrison re: ordinary course profess with J. Tanenbaum re: Evercore and retention application (.3); Meetings Loughlin retention applications (.3)	ume (.5); Telepho ionals motion (.2 I Loughlin issues	ne call with M); Communications (.3); Review Evercore	
DIRECTOR	Mark D. Collins	1.90 hrs.	485.00/hr	\$921.50

March 4, 2005 Invoice 196876 Page 33 Client # 718601 Matter # 142164

01/20/05	Telephone call with M. research re: retention is same (.1); Conference v (.1); Conference with M	cominski re: Loughlin Megh Collins re: Evercore retenti sues (2.4); Review e-mail fr vith A. Jerominski re: Everc 1. Collins re: Evercore reten arrison re: retention issue (.	on issue (.1); Legal com J. Tanenbaum re: core retention application ation issue (.1);	
Associate	Paul Heath	3.00 hrs.	305-00/hr	\$915.00
01/21/05	with M. Collins re: sam	Harrison re: Evercore reten e (.2); E-mail to J. Tanenba -mail to R. Berkovich re: sa	um, R. Berkovich and M.	
Associate	Paul Heath	1.20 hrs.	305.00/hr	\$366.00
01/24/05	Telephone calls with P. Evercore retention appl	nd supplemental affidavit fo Heath re: same (.2); Meetir ication and U.S. Trustee's co h J. Tanenbaum re: same (.2	ng with P. Heath re: oncerns regarding same	
DIRECTOR	Mark D. Collins	0.90 hrs.	485.00/hr	\$436.50
01/24/05	Review Evercore revise (.4); Telephone call to I to M. Harrison re: same Telephone call to M. Co re: Evercore retention a Tanenbaum re: Evercore Harrison re: Loughlin re Evercore retention appl Loughlin retention issue call to E. Graff re: reter (.2); E-mail to E. Graff same (.2); Legal researce	ith M. Collins re: Evercore r ed retention pleadings for fil M. Harrison re: Evercore ret e (.1); Review e-mail from M ollins re: retention issue (.1) pplication (.1); E-mail to R. re retention issues (.2); Revi etention application (.1); E- ication (.1); Telephone call e (.2); E-mail to J. Fleming ntion issue (.1); Telephone ca re: same (.1); Telephone ca ch re: Jay Alix retention pro	ling and e-mails re: same lention order (.1); E-mail M. Harrison re: same (.1);); E-mail to M. Harrison . Berkovich and J. ew e-mail from M. mail to E. Graff re: with M. Harrison re: re: same (.1); Telephone call with E. Graff re: same Il with R. Berkovich re: tocol (1.1)	\$1.067.50
Associate	Paul Heath	3.50 hrs.	305.00/hr	\$1,067.50
01/25/05		lavit in support of Evercore		
LA	Ann Jerominski	0.40 hrs.	150.00/hr	\$60.00

March 4, 2005 Invoice 196876 Page 34 Client # 718601 Matter # 142164

01/25/05	Telephone call with R. Berk supplemental affidavit re: E			
Associate	Paul Heath	0.60 hrs.	305.00/hr	\$183.00
01/26/05	Forward blacklines of Evero	core retention and cash	collateral to Weil	
LA	Ann Jerominski	0.10 hrs.	150.00/hr	\$15.00
01/26/05	Review revised Loughlin represented the construction of the constr	l to R. Berkovich re: sa (.2); Telephone call wi	ame (.1); Telephone call ith J. Tanenbaum re: same	
Associate	Paul Heath	1.20 hrs.	305.00/hr	\$366.00
01/27/05	Finalize and e-file declaration (.2); Coordinate service of source of source and blacklines and succession of the office to M. Harrison at the Office Collins and K. McKinley (.2)	ame (.2); E-mail propo applemental declaration of the United States T	osed form of retention	
LA	Ann Jerominski	0.60 hrs.	150.00/hr	\$90.00
01/27/05	Telephone call with K. Mck	Cinley re: Loughlin rete	ention	
Associate	Paul Heath	0.20 hrs.	305.00/hr	\$61.00
01/28/05	Download RLF, Weil, Ever distribute to working group	~		
LA	Ann Jerominski	0.50 hrs.	150.00/hr	\$75.00
	Talashana asll with C. Tisa	Il rai etatue of France &	Voung retention	
02/02/05	 Telephone call with G. Tico 	mile. status of Linst &	roung retention	

Total Fees for Professional Services\$7,110.00

TOTAL DUE FOR THIS INVOICE

\$7,110.00

March 4, 2005 Invoice 196876 Page 35 Client # 718601

Matter # 142164

TOTAL DUE FOR THIS MATTER

\$7,110.00

Thomas Henn General Coun US Unwired 901 Lakeshore Lake Charles,	sel e Drive, 9th Floor			March 4, 20 Invoice 196 Page 36 Client # 71	5876
				Matter # 14	42164
	rvices through February 1 g to RLF Fee Application				
02/10/05 Associate	Telephone call with A. I Paul Heath	nskeep re: RLF fee applicati 0.10 hrs.	on 305.00/hr		\$30.50
Associate	raui ricaui	0.10 ms.	505.00/m		\$30.30
		Total Fees for Profession	onal Services		\$30.50
TOT	AL DUE FOR THIS INV	/OICE			\$30.50
TO	FAL DUE FOR THIS M	IATTER		and and the second s	\$30.50

March 4, 2005 Thomas Henning, Esq. Invoice 196876 General Counsel **US** Unwired Page 37 901 Lakeshore Drive, 9th Floor Client # 718601 Lake Charles, laLA 70601 Matter # 142164 For services through February 10, 2005 relating to Fee Applications of Others 01/05/05 Draft notice of motion re: interim compensation procedures (.2); Finalize and e-file motion re: same (.2); Coordinate service of same on 2002 and distribution (.2) LA Ann Jerominski 0.60 hrs. 150.00/hr \$90.00 Review interim compensation motion for filing (1.1); Conference with B. 01/05/05 Geldert re: same (.1) 1.20 hrs. \$366.00 Associate Paul Heath 305.00/hr 01/06/05 Telephone call with B. Geldert re: Weil fee application Paul Heath 0.10 hrs. 305.00/hr \$30.50 Associate Download interim compensation procedures order and distribute to working 01/28/05 group (.1); Coordinate service of same (.1) Ann Jerominski 0.20 hrs. 150.00/hr \$30.00 LA **Total Fees for Professional Services** \$516.50

TOTAL DUE FOR THIS INVOICE\$516.50TOTAL DUE FOR THIS MATTER\$516.50

Thomas Henning, Esq. General Counsel US Unwired 901 Lakeshore Drive, 9th Floor Lake Charles, laLA 70601 For services through February 10, 2005 relating to Utilities

01/05/05	Download utilities order and circula service of same on 2002 and special			
LA	Ann Jerominski	0.30 hrs.	150.00/hr	\$45.00
01/11/05	Attend to call from utility regarding	bankruptcy filin	g	\$24.00
Associate	Karen M. McKinley	0.10 hrs.	240.00/hr	
01/20/05	Re-serve utility order on utility and	prepare affidavit	of service re: same	\$30.00
LA	Ann Jerominski	0.20 hrs.	150.00/hr	

March 4, 2005

Invoice 196876

Client # 718601

Matter # 142164

Page 38

	Total Fees for Professional Services	\$99.00
TOTAL DUE FOR THIS INV	OICE	\$99.00
TOTAL DUE FOR THIS M	ATTER	\$99.00

March 4, 2005 Invoice 196876 Page 39 Client # 718601

	Summary of Hours		
	Hours	Rate/Hr	Dollars
Aja E. Inskeep	7.40	140.00	1,036.00
Alfonse J. Lugano	2.00	145.00	290.00
Amy L. Rude	1.20	140.00	168.00
Ann Jerominski	32.90	150.00	4,935.00
Barbara J. Witters	0.60	145.00	87.00
Karen M. McKinley	18.90	240.00	4,536.00
Mark D. Collins	27.10	485.00	13,143.50
Paul Heath	73.60	305.00	22,448.00
Rebecca L. Booth	0.40	290.00	116.00
TOTAL	164.10	\$284.95	46,759.50

TOTAL DUE FOR THIS INVOICE

Payment may be made by wire transfer to our account at Wilmington Trust Company, Rodney Square North, Wilmington, Delaware 19890, Account No. 2264-1174, ABA No. 031100092. Please indicate on wire transfer the invoice number stated above.

Photocopies are charged at \$.15 per page and outgoing telecopies at \$1 per page. Telephone charges are billed at standard AT&T rates which may not be our cost.

PAYABLE WHEN RENDERED

718601

\$72,048.77